
,ytr  tpepNahfj;jpw;fhf58

ts;Stu; tpj;jpahyaj;jpd; fzpjj; jpd epfo;r;rpapy; juk; 8 ,d;
khztu;fSf;fhf elj;jg ;gl ;l Nghl;bf;fhf ikjhdk; jahu ;
nra;ag;gl;bUe;j tpjk; cUtpy; fhzg;gLfpd;wJ. MW Nghl;bahsu;fs;
jhdk; P apypUe;J Nghl;bia Muk;gpj;J Q tpy; Kbf;f Ntz;Lk;.
Kjypy; Q ,w;F tUk; %tu; Nghl;bapy; ntw;wp ngWgtu;fshtu;.
Nghl;;bahsu;fs; gpd;tUk; epge;jidfisg; gpd;gw;w Ntz;Lk;.
 A apy; cs;s ngl;bapypUe;J x ,lk;ngWk; ml;rufzpjf; Nfhit
xd;iw vOkhw;whfj; njupe;njLj;jy;.

 B apy; cs;s ngl;bapypUe;J x ,w;fhd xU ngWkhdj;ij
vOkhw;whfj; njupe;njLj;jy;.

 C apy; cs;s Nfhitf;Fg; ngWkhdj;ijg; gpujpapLjy;.
 Q ,w;F tUk; tpiliag; ngw;w tpjj;ij vLj;Jiuj;jy;.

,g;Nghl;bapy; Kjyplj;ij ntd;w 'vz;" ,y;yj;ijr; Nru;e;j jpyfd;
jdJ tptuj;ijg; gpd;tUkhW vLj;Jiuj;jhd;.
"A apy; vdf;Ff; fpilj;j Nfhit  4x − 3 MFk;. B apy; fpilj;j  x ,d;
ngWkhdk; 2 MFk;.  4x = 4 × x Mifahy;> x = 2 vdg; gpujpapl;lNghJ
4 × 2 − 3 vd;Dk; Nfhit fpilj;jJ. 8 − 3 = 5.  MfNt>  4x − 3  ,y;
x = 2 vdg; gpujpapl;lNghJ fpilj;j ngWkhdk; 5 MFk;."

 ,g;ghlj;ijf; fw;gjd; %yk; ePq;fs;

! tY> %yk; Mfpad ,y;yhj ml;rufzpjf; Nfhitfisg;

gpujpaPl;Lld;  RUf;fy;

! <UWg;Gf; Nfhitfs; ,uz;bd; ngUf;fj;ijg; ngWjy;

vd;Dk; Nju;r;rpfis miltPu;fs;.

06ml;rufzpjf; Nfhitfs;

njhlf;fk;

K
bTA B C

P Q
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epiwnaz;fisg; gpujpapLtjd; %yk; ml;rufzpjf; Nfhitfspd;
ngWkhdj;ijf; fhzy; gw;wpj; juk; 8 ,y; fw;Ws;sikahy;> Nghl;bapy;
ntd;wjhfj; jpyfd; fUJfpd;whd;.

x = (−2) Mf ,Uf;Fk;NghJ 4x − 3 ,d; ngWkhdj;ijf; fhz;f.
4x − 3 = 4 × x − 3

= 4 × (−2) − 3

= (−8) −3

= −11

a = 
1

2
 Mf ,Uf;Fk;NghJ 4a − 5 ,d; ngWkhdj;ijf; fhz;f.

4a − 5 = 4 × a − 5

= 4
1

2
5

2

1

× −

= 2 − 5
= − 3

 p = −
2

3
Mf ,Uf;Fk;NghJ 5p + 1 ,d; ngWkhdj;ijf; fhz;f.

5p + 1 = 5 × p + 1

= 
5

1
× −






 +
2

3
1

= −





 +

10

3

1

1

= 
− +10 3

3

= 
−7
3

   = −2
1

3

6.1 gpujpa Pl ;bd; %yk; xU khwpiaf; nfhz;l Nfhitfspd;
ngWkhdj;ijf; fhzy;

cjhuzk; 6.1

cjhuzk; 6.2

cjhuzk; 6.3
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1. x =
2

3
 Mf ,Uf;Fk;NghJ gpd;tUk; Nfhitfspd; ngWkhdq;fisf;

fhz;f.
(i) 2x (ii) 3x (iii) 4x (iv) 5x

2. ntw;wplq;fis epug;Gf.
(i) x = 2 Mf ,Uf;Fk;NghJ 3x + 1

= 3 × x + 1

= 3 × --- + ---

= --- + ---

= -----

(ii) a =
1

3
 Mf ,Uf;Fk;NghJ 3a − 1

= 3 × a −  1
      = 3 × --- − 1
      = --- −  1
      = -----

(iii) p = −
3

4
 Mf ,Uf;Fk;NghJ  2p + 3

= 2 × p + 3

= --- × --- + 3

= --- + ---

= ---

3. x = 3, a = − 2, p =
1

3
> y = −

2

3
 vdpd;> gpd;tUk; Nfhitfs;

xt;nthd;wpdJk; ngWkhdj;ijf; fhz;f.
(i) 2x + 5 (ii) 3a + 8 (iii) 3p + 2

(iv) 3y − 1 (v) 5 − 3x (vi)  −  7

(vii)  2 + 2p (viii) 6y + 3 (ix)
2

3
1x +

(x) 10 + 2p (xi)  5 - 3p (xii) − y + 2

gapw;rp 6.1

a



,ytr  tpepNahfj;jpw;fhf 61

x = 3 > y =
1

2
 vdpd;> 2x −  3y  apd; ngWkhdj;ijf; fhz;f.

           2x − 3y  = (2 × x)   −  (3 × y   

= 2 3
3

1

1

2
×( ) − ×








= 
6

1

3

2
−

= 
12 3

2

−

= 
9

2

= 4
1

2

a = 3 >b = −
1

2
 vdpd;> 2a −  3b apd; ngWkhdj;ijf; fhz;f.

2a − 3b = (2 × a) −  (3 × b)

= 2 3
3

1

1

2
×( ) − × −


















= − −





6
3

2

= 
6

1

3

2
+

= 
12 3

2

+

= 
15

2
 = 7

1

2

 6.2 gpujpapLtjd; %yk; xd;Wf;F Nkw;gl;l khwpfs; cs;s
ml;rufzpjf; Nfhitfspd; ngWkhdj;ijf; fhzy;

cjhuzk; 6.4

cjhuzk; 6.5

)   
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4 5 10

5

4

5
3

− −
= −

gapw;rp 6.2

a b= = −
2

5

1

3
,  > c = 2  Mf ,Uf;Fk;NghJ 2a + 3b − c apd;

ngWkhdj;ijf; fhz;f.
2a + 3b − c = (2 × a) + (3 × b) − c

= 
2

1

2

5

3

1

1

3
2

1
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1. x  = 2 > y = ( −3) Mf ,Uf;Fk;NghJ gpd;tUk; Nfhitfspd;
ngWkhdj;ijf; fhz;f.
(i) 2x + 3y (ii) 3x + 2y (iii) 5x −  3y (iv) x −  5y

2. a  = 3 > b =
3

4
 Mf ,Uf;Fk;NghJ gpd;tUk; Nfhitfspd;

ngWkhdj;ijf; fhz;f.
(i) 3a −  4b (ii) 2a + b (iii) a − 3b

(iv)3a −  2b (v) a + 2b −  6 (vi) 5a − 3b

3. p q= = −
1

2

1

3
, > r = 2 Mf ,Uf;Fk;NghJ gpd;tUk; Nfhitfspd;

ngWkhdj;ijf; fhz;f.
(i) 2p + 3q (ii) 4p + 3q + r (iii) p + q + r

(iv)  6p +  3q −2r (v) p −  6q + 2 r (vi) 3p − q − 2r

cjhuzk; 6.6

-
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4. gpd;tUk; ml;ltizia epiu topNa epug;gpf; nfhz;L x ,d;
xt;nthU ngWkhdj;jpw;Fk; nghUj;jkhd y apd; ngWkhdj;ijf; fhz;f.

5. xU tl;lj;jpd; gupjp 2 r  MFk;.  =
22

7
 > r = 3

1

2
cm  MfTs;s

NghJ tl;lj;jpd; gupjpiaf; fhz;f.

Xu; ml;ru fzpj cWg;Gf;Fk; NtNwhu; ml;ru
fz pj cWg ; Gf ;Fk pilNa my ;yJ
vz;Zf;FkpilNa  + my;yJ − %yk;
njhlu;GgLj;jpf; fhl;Lk; $w;W <UWg;Gf;
NfhitahFk;.
cUtpy; fhzg;gLk; nrt;tfk; ABCD MdJ
rJuk; APQD> nrt;tfk; PBCQ vd;Dk; ,U

gFjpfshfg; gpupf;fg;gl;Ls;sJ.
nrt;tfk; ABCD apd; gug;gsT     = x (x + 3)

gFjpfisj; jdpj;jdpahf vLf;Fk;NghJ
nrt;tfk;  ABCD apd; gug;gsT = rJuk; APQD apd; gug;gsT

   + nrt;tfk; PBCQ  tpd;
  gug;gsT
= x2 +3x

,t;tpU re;ju;g;gq;fspYk; xNu gug;gsT
,Uf;fpd;wikahy;>
                                   x (x + 3) = x2 + 3x

Xu; ml;rufzpjf; Nfhitia Xu; ml;rufzpj cWg;gpdhy; ngUf;fy;
eilngWk; tpjk; ,jd; %yk; tpsf;fg;gLfpd;wJ.

A x P 3 B

CQD

x
x × x

 =  x2

x × 3

 = 3x

     6.3  <UWg;Gf; Nfhitfs; ,uz;ilg; ngUf;fy;

y = 2x + 3

x −2 −1
1

2
− 1  −

1

2
   0      

1

2
1

2x − 2

+3 +3   +3   +3        +3    +3     +3     +3

2x +3   − 2 + 3 = 1

y 1

x × 3
x × x

x (x + 3) = x2 + 3x
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nrt;tfk;  ABCD MdJ  rJuk; APQS,  nrt;tfk;
PBTQ, nrt;tfk; SQRD, nrt;tfk; QTCR Mfpa
ehd;F gFjpfshfg; gpupf;fg;gl;Ls;sJ.

nrt;tfk;  ABCD apd; ePsk; =  (x + 3)

nrt;tfk;  ABCD apd; mfyk;; =  (x + 2)

nrt;tfk; ABCD apd; gug;gsT =  (x + 3) (x + 2)

gFjpfisj; jdpj;jdpahf vLf;Fk;NghJ
nrt;tfk; ABCD apd; gug;gsT = APQS ,d; gug;gsT +

PBTQ  tpd; gug;gsT  +

SQRD ,d; gug;gsT   +

QTCR ,d; gug;gsT
=  x2 + 3x + 2x + 6

Nkw ;Fw pj ;j ,U re ;ju ; g ; gq ;fs pYk ; ABCD apd ; gug ; gsNt
fhzg;gLfpd;wikahy;>

( x + 3) (x + 2)  = x2 + 3x + 2x + 6

 = x2 + 5x + 6

,jw;Nfw;g ,U cWg;Gfs; ,lk;ngWk; Nfhitahfpa <UWg;Gf; Nfhitia
NtNwhu; <UWg;Gf; Nfhitapdhy; ngUf;Fk;NghJ  mJ eilngWk;
tpjj;ijg; gpd;tUkhW fhl;lyhk;.

( x + 3) (x + 2)

= x (x + 2) + 3( x + 3)

= x2 + 2x + 3x + 6

= x2 + 5x + 6

(x + 5) (x + 2) Ir; RUf;Ff.
(x + 5) (x + 2)

= x (x + 2) + 5 ( x + 2)

= x2 + 2x + 5x + 10

= x2 + 7x + 10

A x P 3 B

C
R

D

x
x × x

 =  x2

x × 3

 = 3x

S TQ
x × 2

 =  2x
2 × 3

 =  6
2

cjhuzk; 6.8cjhuzk; 6.7

(x + 3) (x + 2)

> >

> >

x × x
x × 2

3×x

3 × 2

(x + a) (x + b) Ir; RUf;Ff.
(x + a) (x + b)

x (x + b) + a (x + b)

= x2 + bx + ax + ab

=  x2 + x (a + b) + ab

=  x2 +  (a + b)x + ab
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1. gpd;tUk; <UWg;Gf; Nfhitfisr; RUf;Ff.
(i) (x + 5) (x + 3) (ii) (x + 1) (x + 10) (iii) (3 + x) (2 + x)

(iv) (a + 4) (a + 3) (v) (p + 7) (p + a) (vi) (p + a) (p + b)

(vii) (2 + y) (8 + y) (viii)(y + 6) (y + 1) (ix) (m + 5) (m + 2)

(x) (10 + a) (a + 3)

2. (i) (x + 4) ( x + 2) ,dhy; gug;gsT fhl;lg;gLk; nrt;tfj;ij
mt;tstPLfs; ,lk;ngWk; gUk;gbg; glj;jpy; fhl;Lf.

(ii) mr;nrt;tfj;jpd; gug;gsT  x2 + 2x + 4x + 8 vd tupg;glj;ijf;
nfhz;L fhl;Lf.

(iii) NkNy (i) ,y; cs;s nrt;tfj;jpd; ePsj;ij 2 myFfspdhy;
$l;b mfyj;ij 1 myfpdhy; Fiwf;Fk;NghJ fpilf;Fk; Gjpa
nrt;tfj;jpd; gug;gsT  x2  + 7x + 6 vdf; fhl;Lf.

(iv) x = 5 vdpd;> ePsKk; mfyKk; khwpa gpd;du; NkNy (iii) ,y;
cs;s nrt;tfj;jpd; gug;gsT njhlf;fr; nrt;tfj;jpd; gug;gstpYk;
ghu;f;f 3 rJu myFfspdhy; $banjdf; fhl;Lf.

3. xU gf;fj;jpd; ePsk;  30 m MfTs;s xU rJu ikjhdj;ijr; Rw;wp  x
kPw;wu; mfyKs;s xU ghij cs;sJ.
(i) ghijAld; ikjhdj;jpd; gug;gsit x ,d; rhu;gpy; fhz;f.
(ii) ghijapd; gug;gsit x  ,d; rhu;gpy; fhl;Lf.
(iii) x = 5 m vdpd;> ghijapd; gug;gsitf; fhz;f.

epow;wg;gl;Ls;s nrt;tfk; ABCD apd; ePsk; = x − 2

  mfyk; = x − 3

nrt;tfk; ABCD apd; gug;gsT = (x − 2) (x − 3)

gapw;rp 6.3

6.4  ,U <UWg;Gf; Nfhitfspd; ngUf;fk; (NkYk;)

<
A B P

D

T S R

Q

x −3<

<
<

x

<

<

<

x x - 2

2

3

C
2 × 3

= 6

<
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jdpj;jdpahf vLf;Fk;NghJ nrt;tfk; ABCD apd; gug;gsT  =

APRT  apd; gug;gsT − BPRS apd; gug;gsT  −  DQRT apd; gug;gsT +

CQRS  apd; gug;gsT
                         =  x2 − 3x − 2x + 6

                         =  x2 − 5x  + 6

^CQRS ,d; gug;gsT ,U jlit fopf;fg;gLfpd;wikahy; ,Wjpapy; xU
jlit $l;lg;gl;Ls;sJ)
Nkw;Fwpj;j ,U re;ju;g;gq;fspYk; epow;wpa gFjp ABCD apd; gug;gsT
fhl;lg;gLfpd;wikahy;

(x − 2) (x − 3)   =  x2 − 3x − 2x + 6

,U <UWg;Gf; Nfhitfspd; ngUf;fj;ij kWgbAk; Ke;jpathNw ngwyhk;
vd;gJ njspthFk;.

(x − 5) (x − 1)  Ir; RUf;Ff.
(x −  5) (x − 1)

x(x − 1) −5(x − 1)

= x2 −  x −  5x + 5

= x2 −  6x +5

(x − 5) (x + 2) Ir; RUf;Ff.
(x − 5) (x + 2)

x(x + 2) − 5(x + 2)

= x2 + 2x −  5x − 10

= x2 − 3x− 10

=    x2 − 3x − 2x +6

= x2 − 5x + 6

x ×  x =  x2

x × (−3) = −3x

x × (−2) = −2x

(−2) × (−3) =  6

cjhuzk; 6.9

cjhuzk; 6.10

(x − 2) (x − 3)

> >

> >

−3x
x2

−2x
+6
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gapw;rp 6.4

(x − 5) (x + 5) Ir; RUf;Ff.
(x − 5) (x + 5)

 x (x + 5) −5 (x + 5)

= x2 + 5x −  5x − 25

= x2 −  25

(x − a) (x − b)   Ir; RUf;Ff.
(x − a) (x − b)

= x2 − bx − ax + ab

= x2 − (a +  b)x + ab

1. gpd;tUk; <WUg;Gf; Nfhitfisr; RUf;Ff.
(i) (x − 3) (x − 7) (ii) (x − 1) (x −10) (iii) (5 − x) (2 − x)

(iv) (x − 7) (x + 1) (v) (a + 2) (a − 5) (vi) (p − 7) (p + 3)

(vii) (a −10) (a −5) (viii) (10 − p) (2 − p) (ix) (a + 3) (8 − a)

(x) (7 + a) (7 − a)

2. xU nrt;tfj;jpd; ePsk; x  myFfSk; mfyk;  y myFfSk; MFk;.
mjd; ePsk; 2 myFfspdhYk; mfyk; 1 myfpdhYk; Fiwf;fg;gl;ld.
Gjpa nrt;tfj;jpd;
(i) ePsk;
(ii) mfyk;
(iii) gug;gsT
Mfpatw;iw  x> y  Mfpatw;wpd; rhu;gpy; fhl;Lf.

cjhuzk; 6.12

cjhuzk; 6.11


